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PART A — (2 x 12 = 24 marks)

Answer Two of the following in about 500 words each.

Genaumearaidmper @ramghH@ gaQaunm damelh@n gpssmp 500 Qempaefic
Moo wall&seybd.

1.  “Agriculture holds the key to rapid economic development in the country” —
Discuss.

priger Qgrii Qurmerngry  GubumgHE Aeusmusgeon Qupb ssHuns
Qm&dng — leundlés. '

2. Explain the nature and cause of unemployment in India and various measures
taken by Government to solve this problem.
@idwreier Cauemeeaemwwen sa@w WHND STTETRSDAET clersd WwHmID
@ulrsseman Siss srflear uoGay afigpempasman cilaré@s.

3. What is meant by ‘Deficit Financing’? Explain its role as a source of
plan-financing in India?
upprEGED HHwurssnd aemrd aaer?  @bSwureler ALl HPwefiudie
Sigan undlenen clleTéEs.
PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

Genaumeuaraubmet @rangHE eeataunm aamalpEb gpssmp 300 Gempaaien
AenLwallsseyb.

4. Critically evaluate the New Industrial Policy 1991.
1991 yamghsrar uHw QsmPe Qsrdresuiamen Hparmiey Qewss.

5. What are the advantages of Small Scale Industries?
ApQsmfle Hpeamsailan parese wrame?



What is Green Revolution? Explain the merits and demerits of Green

Revolution.

u&@wLL YrLé aearprd aeten? usenwy LIl 8uler Benp Geomaamen eflané@s.

PART C — (5 x 4 = 20 marks)

7. Write short notes on FIVE of the following.
Yemeumeuameupmyer abdese Apehuyse ass.

(a)

(b)

(©

(d)

(e)

®

(®

Land Reforms
Bles &idmesio
Role of Industry in Economic development.
Qummerngmy euerisdlule QsmPpsreresaiien Lki@E.
Characteristics of under development Economy.
aariédl Gendlu prpsefien @ammdsutisdr.
Non-economic factors determining the development of an economy.
Qummerngmy Guwuryeer Srorafluudad Qurmertgsmyw enyng sryenflger.
The merits and demerits of Foreign Trade.
varerm_ () cuenflsser HapEapser.
Social security schemes.
s LNgIETUY HU L ksar
The defects of Trade Union Movement in India.
Qpdu AgmPpensnsaier GopuT@sdr.
PART D — (6 x 2 = 12 marks)

8. Answer SIX of the following briefly.
Qenamaeraubmier ofl@iéd smaswons ele walssew.

(a)

(b)

()

(d)

(e)

®

Private Sector
seflwnt genm
Relative Poverty
&miy eumienLo
Agricultural Marketing
efleusmu sheng
Cottage Industries
Gy oss Agmfd
Choice of Technology
Qsmfler mLu Qgfley
Licence

o _fwibd
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(g)

(h)

Liberalization
SNIIETOWILDNE @GS
NITI - Aayog.
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